ERRUBH EORECEOBE R (FRH29F4A1BERE)

<ATBUBHERIER >
BEOR | SRAZEMBRIRTT SRENLME L R B L DR
(N) (%) B2 (N) (AN) (%) BB
1 | EERITEEMOBH 31 11.0 =% l
FRAm 4
= 33
2g |BEOUBRIBRESELT SRBETIE al 145 [mm .
B 4
FEEE 21 106 375 ZER
FERED 5
3k | EEEEREEEEKEAOES 34 120 AL 1
{RIE2ET 1
EERD 5
FRERAR T A 1
REMIE 18
HERATR 1
RE 34
S 1
48k |IREXIEEEDRHE 122 431 Gl %2 122 431 RER
EETE 2
{REERM 2
FEL 2
&N 8
PR 2
RRME 5
HERATR 1
(383 1
st |Tha BEDNSTLIREELEST | x| 106 |m& 8| 30| 106 | mEME-RER
FEEFHE 10
FEL 2
{REGEEM 3
RE 23
6fk |[REROBH 25 88 |REtEEE 1 25 8.8 RER
FiEMR 1
74k |HFICRBLEFENET SEREOBE 0 00 [FRE 0 0 0.0 RER
&t 283  100.0




